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Large Scale Structure in the Local Universe
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Bulk flows measurements

What would it look like with o
SNe la data ?
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ZTF camera Field Of View (full visible sky)
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Hubble diagram
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We need simulations

to investigate ZTF imprint

Dhawan et al. 2021

e Sky coverage and survey cadence 0

e Data quality (signal to noise, ...)
—————e——

e Biases (list them)
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Simsurvey (Feindt et al. 2019)

github.com/ZwickyTransientFacility/simsurvey/

ZTF transient light-curves simulator based on an observing strategy
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Simulating ZTF DR2

Targeted way to use simsurvey
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Focus on the errors
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Good news :

Now :
e How well ZTF is doing for any SN ?

e Isitbiased?

from M. Rigault
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What if we observed in
a specific patch of the
sky than in another ?
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untargeted simulations

Simulations
from Mat’s talk
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What do we put, what do we get ?
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X1,in — X1, out

z 0-0.05 z 0-0.05

1.00 T
e output: med = -0.0009 std = 0.5729 output: med = -0.0009 std = 0.5729
0.4
0.75 A
0.50 A
0.2
o
0.25 I
=) L)
>
o
0.004 e -] ...‘ o o e ° o, L 0.0 :
- skl e LA I | Small scatter
o . 2 ® kS
(V)
—0.25 4 °
[<)
. ° —0.2 1
—0.50 -+
=)
o %o
<
—0.75 1 ®
° = —0.4 -
L
_1-00 T T e T T T T T T T T T
-2 -1 0 1 2 -0.2 -0.1 0.0 0.1 0.2 0.3
X1,in Cin

14



z 0.05-0.1 z 0.05-0.1

250 { M output: nmad = 0.8461 std = 5.3874 B output: nmad = 0.0793 std = 0.5932
" input: med = -0.0278 std = 1.0158 © input: med = -0.0062 std = 0.0985
= 200 -

200 H
150 A

150
100 -

100 -
50 A

50 -
D:= 0 -

15



X1,in — X1, out
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z 0.1-0.15
I
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Conclusion and further

- Bulk flows measurements are important to test LCDM
- ZTF SNe constitute a unique low-z sample for measuring bulk flows

- The simulations match the data for individual objects

Future work ;

- Go for realistic population simulations

- Include the survey geometry in the simulations i



